Home Page

1o0f13

Paper: 060 - Sociology Pe
Date of Test 18-10-2023
Questionl:-"Man is a social animal" by
" DMK B@ MVOGaOy GUNIBIEM" ag)aD AlOE@IIEM?
A:-Plato
G%GQD
B:-Socretes
LGS
C:-Aristotle
@REleRogIe
D:-None of these
OAIOWINRALY
Correct Answer:- Option-C
Question2:-"Society is a web of social relationship" by
" rugane MOgadle: EIMLEIREOS B (PEURILIEM" agaT AL
A:-MACIVER
208513
B:-Prof Giddings
6@2anm@ uilayflouimy’
C:-Morris Ginsberg
6233y lmdemyduy
D:-Lapiere
el
Correct Answer:- Option-A
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PROVISIONAL ANSWER KEY

nology and Criminology

Question3:-Group or collection of groups that inhabits a locality termed as
8@ @JEBUOD QIMlEsam @Qz}dxﬂ;({ﬁmﬁ)(} Qojeges SSOTIEMO alOQAN al3R06M

A:-Association
@PEIVINIERaHM
B:-Society
©TLeeMVG
C:-Social Institution
GNLIAHYTD @ﬁ%rw%waﬁ
D:-Community
.ﬁm@mﬂg?
Correct Answer:- Option-D

Question4:-After the death of husband marrying his own brother

cAO®IOIOMO BEEMEUWAH MVIND MIEANIBEOM AllAdaNe &laRmM®
A:-Sorrorate
QeI
B:-Levirate
eaiafleog’
C:-Hypergamy
66a0ajdwal
D:-Hypogamy
REINGION
Correct Answer:- Option-B
Question5:-Father of sociology
MOganURITYODIOMO aflmoal
A:-August Comte
@Y EHWOQ
B:-Mead
oflowy
C:-Sigmund Freud
aluaeng eooeilowy’
D:-Ogburn
630UIGENIENM
Correct Answer:- Option-A
Question6:-ICDS was established in the year
Oagnilauslondl cnunoallmao@ IBatie
A:-1970
1970
B:-1980
1980
C:-1975
1975
D:-1985
1985
Correct Answer:- Option-C
Question7:-Father of probation
O(JOCNIHUOMO allmoal
A:-Sigmund Freud
aVluneng eagoeilouy
B:-John Augustus
GO @RUIRMY
C:-Emile Durkheim
agdlell cwdealle
D:-Herbert Spencer
6a08nIdg eayadaud
Correct Answer:- Option-B
Question8:-In India five year plan initiated in
DB AFRIAIBTVE alRLOH @RYEE] 2@
A:-1949-54
1949-54
B:-1960-65
1960-65
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C:-1950-55
1950-55
D:-1951-56
1951-56
Correct Answer:- Option-D
Question9:-What is the age of child as per Juvenile justice Act 2006?
2006m®3 RO @og 2006 @800 @:SlQes @oWe ag@Wosm?
A:-16 years
16 aoqy
B:-14 years
14 aoqy
C:-18 years
18 aqy
D:-15 years
15 aoqy
Correct Answer:- Option-C
Question10:-National Institute of Mental Health and Neuro Sciences [NIMHANS] situated at
MIHEM @D @(ﬁr@;?gég‘ 6900 HARM OGO @R ™ye0o queadaumy’ (mleanommy) mudleile aganoy
A:-Bangalore
6N10(NA
B:-Hyderabad
£6a0BINIG
C:-Chennai
6.2106)(MN
D:-Mumbai
Qo6
Correct Answer:- Option-A
Questionl1:-Who is the chairman of parole review board in Kerala Jail?
g ROIflenl alcEIUd @RAIERING:M EIOAL O21ARIM @rRYEoEM?
A:-District Commissioner
=lgjo sadflouend
B:-District Collector
elojo Haad
C:-Probation officer
(JoGENIHM 0adlarvd
D:-Superintendent of Jail
RO a6
Correct Answer:- Option-B
Question12:-Gerontology is a branch of science which studies
alClERM (RITY LRIEUWIET HBOERoSE
A:-Youth
QQISU
B:-Women
aleud
C:-Child
&GlBUd
D:-Old
(@ORIWAIAR
Correct Answer:- Option-D
Question13:-Fusion or blending of two previously distinct groups into one
Q6N QUOTYROD @ggdoe@smﬂ TVEWIBMe @RORIBIM LIl flesd: afem@aem’
A:-Assimilation
QRSB E6Mo
B:-Conflict
Mo0LIBa%o
C:-Social Process
aLogadle @l
D:-Accommodation
BIDEIODD
Correct Answer:- Option-A
Question14:-How many central jails are established in Kerala?
CHEBODI® af)@ HTVMES® BWIadud rmnodlgjl%sr@“?

A:-5
5

B:-4
4

C:-3
3

D:-None of the above
6@ |OTNAUGWOTMPRLY

Correct Answer:- Option-B
Question15:-Proponent of "Looking Glass self theory".
"gyesflo (RO ©MV@Bal Gldl" Qes aemIEUd

A:-Mead
oflouy

B:-W.G. Sumner
w%.mﬂ. augad

C:-C.H. Cooky
Ul ag)gf: S

D:-None of these
@OJG)(BO(]TMD%’

Correct Answer:- Option-C
Question16:-Not an agent of socialisation
MIGOlBAUBEDEEMOTIOMO oBLPSPODT

A:-Peer group
MRV ERIDOS &S0
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B:-Family
B GobNlo
C:-School
U3
D:-Crowd
BVNEBo
Correct Answer:- Option-D
Question17:-Oedipus complex is seen in which stage
DWWl EBOogly aB® CRISOBIRIENT B06MEaSM®Y?
A:-Anal
@RYM@D
B:-Oral
600@
C:-Genital
LBOEM@I
D:-Phallic
anoefley
Correct Answer:- Option-D
Question18:-Pleasure principle is seen in
@RMBOTIHMO Ol SEMOZo.
A:-ID
©6ag)ow]
B:-Ego
@RaNE -0
C:-Superego
ale22IQ BRANEHIO
D:-None of the above
ABHEI alOFDAUOWIMOREY
Correct Answer:- Option-A
Question19:-Primary method of social work
aogadls: @udTmMOBIOMO @onals Bl
A:-Social welfare administration
MUOGPaDICHHD B@EMo
B:-Group work
£30Q (@JUBODMo
C:-Social Research
aLIgadld NEAIAHEM.
D:-Social Action
aogadle: @JudEmMo
Correct Answer:- Option-B
Question20:-Help Age India Functioning for the benefit of
6a0@af oged Dy (JEROBMOBIMIW (@JBOBERTT.
A:-Youth
QAU
B:-Women
a3
C:-Old
(@O@AIAQIR
D:-Children
&SlBUd
Correct Answer:- Option-C
Question21:-Indian penal code came into force on
DA UBlemd Mo (@JONILIOBI QUME
A:-January 1 1861
1861 mmecual 1
B:-Dec 31st 1860
1860 auflaveerud 31
C:-January 26 1860
1860 mmael 26
D:-October 6 1860
1860 acgoenid 6
Correct Answer:- Option-B
Question22:-Who describes criminology as the body of knowledge regarding crime as a social phenomenon. It includes within its scope the process
of making laws, of breaking laws and of reacting towards the breaking of laws
@REIEMY ﬁg@m&ms}gm(ﬂ;&g@ @pdlal 6@ Mogadle: @oleommonl @ldlemogslow allewontlafasmma? mlwasmsed mldas l /) il , @l /) flasamnmilemos’
QTleElERS M @R@OMO AWl 2ueqg.
A:-Walter C Reckless
Q358 Ml eOSGMY
B:-Wolf gang
QuBad 1063
C:-E.H. Sutherland
&0.af)gf. MLmABRIOMBOL
D:-Taft

Song’
Correct Answer:- Option-C
Question23:-Father of classical school of criminology
HoTlend qyud 60ad @ldlemogelges allmoal
A:-Saint Thomas Acquinas
&I @My’ @@ Imomy
B:-Cesare Baccana
avlearud sniamom
C:-Enrico ferri
af)BOleEd 60
D:-Karl Marx
008 @Oy
Correct Answer:- Option-B
Question24:-Classical school of criminology is based on
Holend yud G0ad @@ MMy @eslruadmaoEslQssmas
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A:-Crime and economy
BQYHOYYo TUMIE AUAITLOWRR0
B:-Biological inheritance
NICWISHEDT @OMINEIQUBIWo
C:-Social psychology
GO HETVEEHIBE
D:-Hedonistic psychology
6aneITImls; OememIgH
Correct Answer:- Option-D
Question25:-Father of modern criminology
@RWRMle: @lElnmaworyomlemo almoal
A:-Jeremy Bentham
omdad enimae
B:-Garofalo
NIBOIANICRID
C:-Cesare Lombroso
aJlearu@ GRI0EENJICITVO
D:-Enrico
gl
Correct Answer:- Option-C
Question26:-The socialist school of criminology emphasised on the idea of Marx and Angels
emuoayallqy’ qpud eoed @ldlemogsd] 203EIOMOQS aGn@MIBMBOR. ERUEBIM EDMNE3 Mede:
A:-Economic determinism
auamiomile: aldeR@aGe
B:-Psychopathy
©OTVEBIODOT|
C:-Hedonism
©aNEWIEITIMo
D:-All the above
QHE@D Al0OMAIOWEIe
Correct Answer:- Option-A
Question27:-Elaborate investigation give us conclusive evidence that is no single predisposing factor leads inevitably to deliquent behaviour. This is
linked to
QllaJ2In0® @REMINUEM. MYLH MIBERIVH2I® OOEIYHUB MTED, BOEIQ YMBHGB@@ *QISH:0j @RMINIEIIQ Alal@20® ealmagawiealss Meleamilg). @ emlajoQmaiRoR
MIMWeSIElenm
A:-Subjective approach
Al @alE20@ qVdlaimoe
B:-Multiple factor approach
amilewlee ceisearges mudlaim.
C:-Biological approach
QG)Q(M(IO()(TBQJ(OIDO@ UdlalMo
D:-None of the above
ABHEIW AlOFTMAUOWIMRRGY
Correct Answer:- Option-B
Question28:-Criminals can be identified by certain physical characteristics is connected to which school of criminology?
allar odIElS muallewaum®:d Palcouilsl ®QaREles TlEladlwom e¥lQmay
ap® @ldlemogsd] ﬂr{ggmocm’l nIMWEagIdlenao?
A:-The cartographic school
$003e30adlB nguﬁ
B:-Neo classical school
e gomilenad ayud
C:-Classical school
HOTlen@d ayud
D:-Positive school
Gatomdidlar ayoud
Correct Answer:- Option-D
Question29:-A crime committed by a person of respectability and high social status in course of his occupation is called
6N1202IMQYe OWABMM VIPaClS: aIBIR. O88 B8@ ATl CeMO EIYalcd MSOTIL ;YD agom allglesa.
A:-Cyber crime
HBTVENIQ HYB®Y0
B:-White collar crime
060 EHIBB HQBHOY0
C:-Organised crime
MeoaISl® SQRHO0
D:-Political
EIFQ BP0
Correct Answer:- Option-B
Question30:-A child below the age of cannot be convicted
M @erQes 6 Bglow wWlexleom edlale).
A:-6 years
6 gy
B:-12 years
12 aoqy
C:-10 years
10 aqy
D:-7 years
7 aqy
Correct Answer:- Option-D
Question31:-Not an element of criminal law
&ldnad dloacmleno 8w caiseag)
A:-Rationality
QEOIEENIOWo
B:-Politicality
P
C:-Specificity
(QCDYB®
D:-Uniformity
BB
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Correct Answer:- Option-A
Question32:-Proponent of differential association theory
AWlanoMeuy@d @REMIMSleaHM MUlRLINETIOMBO AIBTIEHUD

A:-Marx
20363

B:-Engel
ABoN@

C:-E.H. Sutherland
0. af)af. V@AM

D:-Walsh
QU@

Correct Answer:- Option-C

Question33:-The child welfare committee consist of chairperson and other members

66203 6QIEBO00E Goldleld eawdsalgsm. ag @RoLEEBEe DUIOYFT.
A:-5 members
5 @roneud
B:-3 members
3 @RonEEBUd
C:-6 members
6 @R.nERUd
D:-4 members
4 @roneERUd
Correct Answer:- Option-D

http://192.168.1.6/dept/modules/marklist/answe...

Question34:- within a period of one year from the date of comencement of Juvenile justice Act constitute for every district child welfare

committee

BN VTYTY @O ERE-El T GO 6@ ABuoDIMegld agep g vlwesua mualdleg. @ale-dlesme.

A:-Central government
(M TVAH:IB

B:-State government
MVLMLOIM TVAREROR

C:-Social justice department
@gadle Ml Qisaf

D:-District Collector
=l Haead

Correct Answer:- Option-B

Question35:-Juvenile justice care and protection of childrens Act 2006 applies to all matters concerning
BN BQT OSBOE @B Heo5eHMd Boad al@dwmay @y« 2006, MVoETUMWl 4 280 @0QYEBRUBERe EIOWEDIENY.

A:-Children in need of care and protection
al@lalEEMQje MUEBHEMOe @VURASS BB

B:-Children in conflict with law
M2l 6eUGBERLYSS E:5le:ud

C:-Both (1) and (2) are correct
(1), (2) dlwos

D:-(1) is correct
(1) dlwosm

Correct Answer:- Option-C
Question36:-A normal human cell contain
603 MLIWIEEM A 9C d 3)

A:-23 pair chromosome
23 emocwl @226V

B:-22 pair chromosome
22 emocul 6@226auoe

C:-21 pair chromosome
21 emocwl @226V

D:-None of these
@mawomm%

Correct Answer:- Option-A
Question37:-Psycho analytical approach was formulated by
6©6TMeH @eMaldlen@ mudlaimo @GaloagoTlRoy

A:-Ericson
ag)Clggend

B:-C.H. Cooley
al.ag)gf: el

C:-Sigmund Freud
aluneng eagoeilouy

D:-Elizabeth Herlock
agellavsnion’ eandeeioss

Correct Answer:- Option-C
Question38:-Which school suggested the humanitarian method of treatment to criminals?
BQAUIEBHEBIFES 2O HRIQ HaIGBRIQe aRE ﬂ@gosm‘ MRequel4/@?

A:-Classical
Holend

B:-Neoclassical
aleogomilend

C:-Biological
snIecogHl® @

D:-Sociological
VOGBS D

Correct Answer:- Option-D

Nlesana

Question39:-Which section of probation of offenders Act deals with protection of action taken in good faith?
&gms@i&,g&s 6(@JoeNIaUMd Mlaewileal ag@y allfonadsm MBERICINEDIOS af)SEM msms?@gs)s MEBHUEMo HODBHIO s)mugcm@“?

A:-Section 16
Q] 16

B:-Section 14
Q@a] 14

C:-Section 13
Qida] 13
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D:-Section 18
Qo] 18
Correct Answer:- Option-A
Question40:-Section 19 of probation of offenders Act 1958 deals with
6(@I0B6NIHM B0al BeanMewE @@ 1958 a1 oavesnd 19 alaudlesmaoy
A:-Duties of probation officer
6(JossNIaHM 630adlTVQOS HSABUB
B:-Section 562 of the code not to apply in certain areas
esowloal oavesd 562 aller coseieglad snioweng)
C:-Variation of condition of probation
(JOGENIAHM QQITLOYSS QUDIIM.
D:-Removal of disqualification attaching to conviction
wBlesoallwlQmow cITWe)s EREVIVYD Mo HaYs:
Correct Answer:- Option-B
Question41:-Which of the following is a secondary group?
©969ooRMARI® ag@osny Bl af?
A:-Peer group
o118 @of
B:-Association
@REIVIMIIEW UM
C:-Nuclear family
mé@ﬂmxﬁ anodlefl
D:-Joint family
6ol anodflefl
Correct Answer:- Option-B
Question42:-Arya Samaj was founded by great Indian Reformer
@REKTLRIR: M0dalla) BaOIMIW MM alElg@@moeT

A:-Raja Ram Mohan Roy
030000 GROANM OO
B:-Swami Vivekananda
sl alleQisommd
C:-Dayananda Saraswathi
BWOIMNMM3 MVEMVIG
D:-Jyoti phule
6O ageal
Correct Answer:- Option-C
Question43:-Swami Vivekananda was a disciple
WWlaygmowilamme muioal alleisomaa.

A:-Rama Krishna Paramhamsa
room@:m al@daO(MN

B:-Aurobindo Ghosh
@RI ereida!

C:-Vinoba Bhave
aflemosnid @

D:-Ishwar Chandra Vidya Sagar
OM0IAB 2l alldypmonad

Correct Answer:- Option-A
Question44:-The organismic theory of society by
MPaOOTOMBO ©6BAI MIERLOMD. LTIV

A:-Karl Marx
003 203

B:-Darwin
wodallm

C:-Mac lver
2085 Oag)UB

D:-Herbert Spencer
©a0d6n1dg’ HTYABITLA
Correct Answer:- Option-D
Question45:-Which of the following is not an element of communication process?
©@069aJ0QIMARIEE aB®EN @RI G VQES B CRISGALPO®Y?
A:-Sender
@O 5|QIUB
B:-Message
(MOGMBUBe
C:-Reinforcement
RHTNOGOM@3
D:-Receiver
auiledomonl
Correct Answer:- Option-C
Question46:-Social work has methods
aogadle: @Judommamlay @lailegere.
A:-8 methods
8 Aol ud
B:-10 methods
10 dolleud
C:-3 methods
3 doleud
D:-6 methods
6 Aoleud
Correct Answer:- Option-D
Question47:-An emotionally aroused crowd bent on violent action
£6QIBClHRW] PEMBIN BMEFe ERGRITVSONIW @AUBCOMEREIDS aBB6alg
A:-Crowd
VMEBo
B:-Mob

G@o6nt’
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C:-Mores
€2060MY’
D:-Reference group
0a00M@MY Qo]
Correct Answer:- Option-B
Question48:-Working together for the pursuit of a common goal
8@ 600D BlEHHe EMFMOIMIW] 8wmals] JdOTEsE
A:-Co-operation
MOaNE:O6Mo
B:-Co-ordination
ABCHIalMo
C:-Assimilation
ARSI\ E6Mo
D:-Conflict
MUoORIBa%o
Correct Answer:- Option-A
Question49:-The use of force or the threat of force for making the weaker party to accept the conditions of agreement
gaeniel &:68low HEQM:EeS AITINBUS @RUIe:EIEIM eajdlaflamaiay ielaje@own. @ReRIEITS fiRl)e@Iw Elauer
A:-Toleration
Malley®
B:-Sublimation
OBOOIEB@6Mo
C:-Displacement
MLOOM (B0
D:-Coercion
NILI(JCRIUo
Correct Answer:- Option-D
Question50:-The process by which individuals and groups are ranked in a more or less enduring hierarchy of status
QUBDIBO8Qo QofBOBQ aGOOSEO alamlaasm asalwes ewsmlolad eueasEpmMm @@l
A:-Socialisation
aLORaClBIBEBEMo
B:-Social Stratification
ogadler Adyfleoeme
C:-Civilisation
MINEB®
D:-Social Institution
aLIgadld uNdaime
Correct Answer:- Option-B
Question51:-Hindu Marriage Act
adlg aflaan e dleialcd ammaoy
A:-1856
1856
B:-1954
1954
C:-1955
1955
D:-1855
1855
Correct Answer:- Option-C
Question52:-Family has been taken over from Latin word famulus which means
Q02QRIMY ag)am 210Gl alBEMI@ MmNy E:gosnio Mlle:@lad), @RGIEMO @RAE®N.
A:-Servant
Borum
B:-Neighbour
@OV LI
C:-King
©omoqal
D:-Children
28U
Correct Answer:- Option-A
Question53:-Biological social unit composed of husband, wife and children
EROmICYe RIOIYo B:SlEGo @OSEFAN OO MVIGaSld: QeTIE
A:-Marriage
allaoade
B:-Kinship
ENITUY@o
C:-Family
:GobNlo
D:-Cohabitation
VAN
Correct Answer:- Option-C
Question54:-Democracy only provides that all men should have equal opportunities for the development of their unequal talents by
a)5fd 2MaU LR ERAIGBHS @RMIRRIY B¥lNE:0d allemiafemaln’ @el @raIMEEEM cIdlEMeERT 20@E2 RMIWlal®e QAIMLO £2IQMOSE. DOV AlOET®0E?
A:-Dr. R. Radhakrishnan
GOWO. @RB. EIWIGHM
B:-Mahatma Gandhi
2a0IERININUS
C:-Jawaharlal Nehru
2BQIOBRIOM OMaBQ
D:-Rajendra Prasad
©I6R@M @JMIF
Correct Answer:- Option-A
Question55:-"Man is born free and every where he is in chains" famous sentence in social contract book written by
" 200aUyB MIGE@MO] BAEBMD, 2fgPVISEDo @OAIM alERRIG:EIRIM” g GILIUNDE CE:INMVSIL AITYSHOTISAI @IUBITYAID Al aldhe AT
A:-Montesque
GROOETRMY’
B:-Durkheim
adello
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C:-Voltaire
couds@ad

D:-Rousseau
QeI

Correct Answer:- Option-D
Question56:-Folkways was introduced in sociological literature by
@VIGalld TLICIYEIE MIESISIEBIOSU @RAIMElalaioY

A:-Mac lver
208 OagUd

B:-W.G. Sumner
(\u%.sﬂ. augad

C:-Nimkoff
loGH0ad

D:-Lund berg
2161% e6nIAdUY

Correct Answer:- Option-B
Question57:-Repetitive petty Acts of the people
BOETREOS m@mrﬁmmﬂ%gg Me @Yooleud

A:-Mores
MSalsleud

B:-Folkways
MOESOSIEIOBUD

C:-Customs
@10).2100683UB

D:-Social norms
MOgadle: @IMBEMLEBRUS

Correct Answer:- Option-B
Question58:-Absolute poverty is often known as
uMYBeR GGG aliGaloge BRAIOAISM@Y

A:-Subsistence poverty
oaldlaim 30al@%

B:-Relative poverty
@Ryealesils 061G

C:-Poverty Index
30aI@y myalle:

D:-None of these
@OJG)@O(TTOID%

Correct Answer:- Option-A
Question59:-In India 20 point programme was introduced by
o3 20 a0l 6eowoe @RAMGlafo

A:-Jawaharlal Nehru
BQUOBRIOB OMaOQ

B:-Rajiv Gandhi
ol woawl

C:-Indira Gandhi
eoadleamomuw]

D:-Narasimha Rao
MEMIload 000y

Correct Answer:- Option-C
Question60:-IRDP
0af)@RAWlall

A:-Integral Rural Dvelopment Programme
DORW Q0@ Awalelnfead Gowe

B:-Integrated Rozgar Development Programme
OREWQW’ COIMINIAB (waialnfEad Eajowe

C:-Integral Rozgar Development Programme
DORWI G0OMINIB AWwaILlalea cajdWoe

D:-Integrated Rural Development Programme
OREWQW QO (waRleTEad GjoWe

Correct Answer:- Option-D

http://192.168.1.6/dept/modules/marklist/answe...

Question61:-Which section of the probation of offenders Act 1958 deals with the power of the court to release certain offender after admonition?
1958-62! 6()2esnIU® Bad BOaNMBEWY AREIOMBO og® aleowmeny alal @gangees amdldlafecusdts 6adalnlenomes eIsTlQes @PWE:I0. HeG:E:00K0 smctgrm@“?

A:-Section 14
Q@a] 14
B:-Section 13
Q] 13
C:-Section 7
Qiga] 7
D:-Section 3
Qo] 3
Correct Answer:- Option-D

Question62:-A Historical phenomenon that appears to recur at regular intervals through at recorded history and in most parts of the world
CEAIOAIFODOS aICI@OTIa) CBODIOMO dle IVEBERl SRV DSEUSHEITE ERHAUBCTIEHIMD MIOWHEIV B 2IBIO @EIRITVo.

A:-Crime
BQBHOYo

B:-Smuggling
HBBEHSO

C:-Terrorism
[Ci7-NCToTIE™S

D:-Vagrancy
Q@

Correct Answer:- Option-C
Question63:-Boot legging means
enys eeIgloty agamomd

A:-Gambling
EYOREN
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B:-Begging
Elexosmo
C:-The trade of illegal boot
@RMUWIGH® NS QU1
D:-To make, transport and sell alcohol illegally
dleaclaeuacd] acy Mldlens, ©@:06MReadE:®:, Qlddess
Correct Answer:- Option-D
Question64:-The offenders must receive much pain as suffered by their victims
DU @MEAISM CaIBME:U &:QIEle:03 @RMEAIENEM.. 0D C@IAET

A:-Deterrent theory
@oleeow milevom.

B:-Retributive theory
@O0 MilRLID.

C:-Reformation
al@loy@6mo

D:-Preventive
(@JOIEEIW.

Correct Answer:- Option-B
Question65:- is designed as a social reaction to crime.
BQHOITRESIFES B MIGaOld: TEEMAOQIETY BalSH@Baim 6aglelesma.

A:-Poverty
B0AIGY

B:-Violence
@&

C:-Punishment
wless

D:-Rebellion
&BI0alo

Correct Answer:- Option-C
Question66:-'Pay the price of a crime' basic principle of which theory
'8@ SO0 allal M@E:E' g GRSITVOIM O®Ie @@ MilrvoaDacM?

A:-Deterrent theory
(@olleeow MIleRLIM.

B:-Expiation theory
allojelleeem adlevoamoe

C:-Reinforcement theory
RETIO5OM@ MIlERLOD.

D:-Restoration theory
adMEMNdalM MIlRLIT

Correct Answer:- Option-A
Question67:-The Reformation aims at
MAlleEeMOTIOMO LleuEERUd

A:-Inflict pain upon offenders
SQAEIBEI® CABMDQENRILRE

B:-Protecting family of victim
DOWEOS H:FoNIOTD MVEEBH|ERS

C:-Curbing of recidivistic tendency
@RABOM @AM OSQYH

D:-All of the above
QHE@D AlOOMAIOWEIe

Correct Answer:- Option-C

Question68:- act as a protection of society from criminals.
&Qaglegd@ mlon’ muganeem m 1B @M (adomlasmo.
A:-Recidivism
alleerrgenod
B:-Imprisonment
osal

C:-Restoration
AJMETVAAIMo
D:-Retribution
Q@000
Correct Answer:- Option-B
Question69:-Forfeiture and confiscation of property is imposed in India in case of
MV0A0. 5108 D3 Bl ©aGM@IMo TVICT HEMBOBSEJ YBOOOYFTO.
A:-Smuggling
HBBEHSOT
B:-Drug peddling
DQEBADTN HHSO0)
C:-Holding back money
aléMo @@lodallSlens
D:-All the above
GO JOTNAUGWEY00
Correct Answer:- Option-D
Question70:-Probation means
©(@JOGENUAHUM @RA@MOAIEBIMND®
A:-Conditional suspension of sentence
WBey agamndaloece] mldoolagad
B:-Home leave
@ano aflal
C:-Unconditional release
OB OWB20@ E2I.2IMoe
D:-Emergency leave
@pslome @oaiusl
Correct Answer:- Option-A
Question71:-Who is considered as the father of victimology?
allglenogsnes allmoar @aryoeosm?
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A:-E.H.Sutherland
6. af)af. V@AM
B:-Benjamin Mendelson
esnieialad eamew@Tusm
C:-Hamvan Hentig
an26QIB ©anFluy
D:-Bentham
6N Do
Correct Answer:- Option-B
Question72:-Which department provide prisoners admission to open prison?
AR QSO @SQIBES @OM RIS @JeaieMo M@BM@?
A:-Court
€B0SO
B:-Police
Gatoaflmy’
C:-Jail
2013
D:-Probation
6(JOBENIaHM
Correct Answer:- Option-C
Question73:-The possible Impact of solidarity confinement are
6a)@)308UBOMIOS ®SAIM al0BaleRmMailg)es PIMRICENIYM @M LIMEBRUS
A:-It prevents undesirable association of criminals
DOV S:QUEBEHS EREIBORABIOOD) TVADALTVHOTD OSQYAD
B:-Prisoners may reflects on their crime
@SB BRAIBES GHQRDPOMERC| 5] alavilealende
C:-Cause poor mental health and reduce interest in work culture
€2OUBR0® BIMIVIBHOEEINKOTIM BHOGEMAIB:EQe H@IFIREMIFES @Il GHOYHQo ©.2IQMO
D:-All the above
QHE@D Al0OMAIOWEIe
Correct Answer:- Option-D
Question74:-The Act of publishing defamatory personal information of individuals through social media
emoayed defloalgjes ayeoleees @oasldom 0@ aeclno alaesarud milelledesmalngs dmlone
A:-Cyber Defamation
£6TUeNIA ERAIBIACTIeGOm3
B:-Hacking
ANOEBloUY
C:-Phishing
afflasflouy’
D:-Embezzlement
@gla]
Correct Answer:- Option-A
Question75:-The conditional release of an offender who has already saved a portion of his sentence in a correctional institution is
8@ ClIBOME MOIAIMOTITE (BlEUQES BB BIWo DTN MoRH4l B GQAIEIQReS AlINNA]® 6@dalMe
A:-Remission
osal
B:-Probation
(@JOGETUAHUM
C:-Parole
alGEIUB
D:-None of the above
QBHEIW AlOFTMAUOWIMRRGY
Correct Answer:- Option-C
Question76:-The word probation is derived from the Latin work 'Probare' means
6(@I0BENIAHMD 2N QIO RI0GIMB @IAHUDOIW '6osenid’ agM@@d allamosny p@oBldlenma), ERIEMO @RAmN
A:-To test or to prove
aldleeowlens @pegiElmd eogllase
B:-Pardon

@0q]
C:-Enquiry
@REMInH6Mo
D:-Plea bargaining
@PCalSH Qflelenlo®d
Correct Answer:- Option-A
Question77:-The statistics relating to crime under IPC are enumerated and published now by
eagnlmiles’ sldlaiss &:0eOiEEmRendl MITWes MAGINIEEEMERGUB EaOUd GEMEBIEBEY. MIAlEEIEEG:Qs 6.21QM®Y
A:-Indian statistical institute
ooy quoglmflenad @aﬁrgg’lgég“
B:-National crime records Bureau
MIHUMBB OO0 HOCEHIBUIMY NG00
C:-Bureau of police research and development
6n1YE00 60a0 gasellmy’ dlnud 5f @R eavaelaload
D:-National research development corporation
Mm@ Slrudsf dowaielafoad® e:9B@qje0mm
Correct Answer:- Option-B
Question78:-"Criminology is a science of crime and its treatment" definition by
" @aln@Beomge HgH@LTBleMOR. @GO alelormesws womyaoem" agam mldqalgmod?
A:-Wolf gang
QuBad 1063
B:-Taft
Soag’
C:-W.C. Reckless
nn%.m)’l. [Rlelor=Noats
D:-Elliott
agelog’
Correct Answer:- Option-D
Question79:-In India before independence the offenders were send to Kalapani is Andaman and Nicobar islands. What kind of punishment is this?
MUI@EDEBIM Gl e @gaglees @M Mleendamidd Gllajesow @ialanmlwlealss @R 4@, DO RD®E. UBleHwIs?
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A:-Pillory
BEOBUD
B:-Corporal punishment
wodIEle UBle
C:-Banishment
aOTDOEHTD
D:-Imprisonment
sal
Correct Answer:- Option-C
Question80:-Type of punishment in ancient India
@M aolenl wleHQes Bl
A:-Fine + Corporal punishment
afle + wodldle udlem
B:-Gentle admonition, fine, harsh reprimand and corporal punishment
6220 M), aflle, &M oMM, WIAEIElE: Udleu
C:-Gentle admonition + fine
£V FMAIla] + afle
D:-Corporal punishment
wodIEle UBleu
Correct Answer:- Option-B
Question81:-The habit of relapsing into crime inspite of having administered correctional treatment
Slmoo@ alslory m@elalge egeoomiees asmrElacm el
A:-Rehabilitation
oMWA.
B:-Reformation
malleo6mo
C:-Retribution
(@JO000
D:-Recidivism
afleerrge®d
Correct Answer:- Option-D
Question82:-Chairman of advisory board of Jail in Kerala
cHEa80mIoa! B Daleduod MG 6.a1@A20M
A:-DGP prisons
Wledlall moilajeud
B:-DIG prisons
Wlonge =eilajeud
C:-District collector
alojo Haad
D:-Superintendent
Tylere’
Correct Answer:- Option-A
Question83:-How many open prison in Kerala?
CHEBODID af)@ DO m@’le!;@,gmg’?

A:-2
2

B:-4
4

C:-3
3

D:-5
5

Correct Answer:- Option-C
Question84:-Self determination is a principle of
e MdR@eaM@Y MO O@ID6IT.

A:-Social Action
Mgadle JaBomme

B:-Community organisation
aLoQadld TVseRISM

C:-Group work
S30Q (@JAURODMo

D:-Case work
EBHMY QUBES

Correct Answer:- Option-D
Question85:-Anomie concept was formulated by
@M @RUE. @Galea|geTIoY

A:-Korn
€06

B:-Durkheim
gdal

C:-Bonger
@6NI0oN@

D:-Enrico ferri
ag)BAlesd Bandl

Correct Answer:- Option-B
Question86:-304-B IPC deals with
304-6nll Oagalmil Oed:@I00 OalgmMoy

A:-Suicide
@RYODAOD)Y

B:-Cruelty
@roa»

C:-Homicide
MDY

D:-Dowry death
UV RCT

Correct Answer:- Option-D
Question87:-Chairman of the Ist Law commission
8 Mwa Gaflaud 6.21dB0m
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A:-Warren Hastings
QO GanqlouIny’
B:-Lord Macaulay
ca1d’ aewoel
C:-Lord Cornwallis
6I@W’ eB06mcuoailmy’
D:-Dr. W.G. Reckless
GO0, w%aﬂ. 600G
Correct Answer:- Option-B
Question88:-Age limit for the admission Inmates of Boastal school
GENIOTY@3 ﬂ@gﬂo&l rlﬂegar%@zﬂ@,gss (QCURMOBIPES (JOWaldlw]
A:-18-19
18-19
B:-18-20
18-20
C:-18-21
18-21
D:-18-24
18-24
Correct Answer:- Option-C
Question89:-"Child in need of care and protection" take care of
" a1@]alEEMQje TVoEBHEMYo @RYUUBKABS d:Sle>ud" al@lanelss.
A:-Juvenile Justice board
BAEOM® VAl eeriodauy
B:-Child welfare committee
wWiwessn qualol
C:-Juvenile court
LBAOOMTD CHISO
D:-Juvenile home
BAUOOMT GaOo
Correct Answer:- Option-B
Question90:-Who is the author of social Diagnosis?
M0gadle; cEINMIREMEBIEMO ©aRImoal @rRyEoem?
A:-Murray Ross
Q60 coomy
B:-Fried Lander
OO’ elomanad
C:-Helen Pearlman
©a0.I08 GaluBaom
D:-Mary Richmond
ca@| Olajneng
Correct Answer:- Option-D
Question91:-Chairman of all Indian Jail reform committee 1980-83
1980-83 enaleainmyp mlod aidlyosm qudlol 6 awdaod

A:-Justice V.R. Krishna lyer
QoY ofl. ard. @y oA

B:-A.N. Mulla
ag).ag)B. gey

C:-Macaulay
ODEDIOS

D:-Dr. W.C. Reckless
GO0, r\n%mﬂ. 000G

Correct Answer:- Option-B
Question92:-One of the Important problem which the prison authorities face in India
e B3 @RWIE:00leud Elgalle:@lesan @wom @gsengl an’

A:-Recidivism
@RAUBOMo

B:-Insane Inmates
BT MSQYSHID

C:-Over population
@Rdl® LMoy

D:-Violence
@&

Correct Answer:- Option-C
Question93:-Section of the code of criminal procedure 1973 is the main provision dealing with compensation to crime victim.
BQHOYOTIM DEIVAUBLS Magnl@la0IGe MTBEHMBIMES (@JWIM QIO
1973-0a @lm@d msadl@a Mloaowlea eaqueum @6,

A:-357

357
B:-356
356
C:-355
355
D:-354
354
Correct Answer:- Option-A
Question94:-The probation system in Kerala is working under department.
CHESODNOR! H(JOGENIHM Mlwomo Qdsaflay slslanem eadoolesma?
A:-Prison
2013
B:-Health
@RYBEINe
C:-Social Justice
aogadle il
D:-Police
catoeflmy’
Correct Answer:- Option-C
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Question95:-Jagmohan Singh V State of UP case the constitutional validity of was challenged before the supreme court
2602020 M0y afl eqRg’ Boad Qall edmY 60 REREMALISMO MIR®OD MYefle EHOSTIVIT Ea10B0 6aIQ.
A:-Capital punishment
QWUBles
B:-Plea bargaining
a0d= aflelgalo@d
C:-Dacoity
SR
D:-Murder
)& IR0 dho
Correct Answer:- Option-A
Question96:-Who is competent to remit or commute death sentence?
QAWWlEH BFAENIEMI AINGBEIENIEMI CRINIOQRSBAIB
A:-Prime Minister
(QWIMaED
B:-President
@Yl
C:-Governor
naIdemad
D:-Chief Justice of Supreme Court
Maflo 60s@ allad’ sy’
Correct Answer:- Option-B
Question97:-The protection of women from Domestic violence Act came into force in the year
»@adle aflowmaenied mlan mileeg m.esslesmolmgs mloa. @3 (@Joen flwd cune.
A:-2005
2005
B:-2004
2004
C:-2006
2006
D:-2003
2003
Correct Answer:- Option-A
Question98:-274 of Kerala prison Rule 2014 deals with
2014-601 corog R0lad wloa. 274 200 ENIMNWEAISEIT.
A:-Central prison
OMVMBSEd BB
B:-Women prison
arleo =il
C:-High security prison
WA MEeHUYss =ilod
D:-Open prison
@0 Q@
Correct Answer:- Option-C
Question99:-"Irrational fear" means
" @R®IEEM2IW EW." @RA@NAIEHMDY
A:-Anxiety
poloz:an]
B:-Phobia
Gandenil@
C:-Psychosis
£OMLEHOMIImY
D:-Neurosis
mécosmﬂrm“
Correct Answer:- Option-B
Question100:-The first backward classes commission 1953 headed by
1953-® @rawon aflemoss allcow edlaum Gr@es em@oiopiensm?
A:-Kalelkar
HHCRBEHQ
B:-Mandal
DEMUED
C:-Simon
o6 a3
D:-M.N. Srinivas
af)o-ag)M. @lmlasnmy
Correct Answer:- Option-A
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